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Instructions:

Model Question Paper 2
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Write the question number on the left side of the Answer Book

Answer the question according to the instruction given under each part.

For Part -A questions, only the first written answer will be considered for evaluation.

For question having diagram/figure/graph alternate questions are given at the end of the question paper is a
separate section for visually challenged students.
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PART-A

Answer the following questions by choosing the correct answer. 5X1=5
Which of these is suitable example for artistic aptitude?

a) Painting
b) Banking Knowledge

¢) Mathematical knowledge
d) Mechanical knowledge

Which of the following is a common feature of children with orthopedic challenges?

a) Jerking movement
b) Improper structure of bones

¢) Deformity in fingers
d) All the above

Doctors in India must register their names with this council to start their medical career.

a) MCI b) AICTE ¢) NCTE d) NAAC

A student prepares a Power Point presentation and performs on the stage to give a seminar on the theme 'National
Symbols of India'. The student is thinking of taking advantage of which of the following?

a) E-mail b) Smart Class ¢) Joystick d) Super computer
Who among the following is known as the 'Father of Action Research'?

a) Philip Crosby b) Edward Deming c) Kurt Levin d) De Movier

Fill in the blanks by choosing suitable word given in the brackets. 5X1=5
(Lack of attention, Creative Thinking, Mask, Hypothesis, NCERT, Superiority)
A person's ability to create a new field and make a new observation is called

The Latin word "Persona' means

The organization that revises the ‘National Curriculum Framework every five years is
Psychological barrier to effective communication

Match the following.
A
a) Generalization
b) Daydreaming

. A temporary solution for the problem under the examination is

5X1=5
B
- 1. Non-verbal communication
- 2. Process of Concept Formation

¢) Impact of multinational companies - 3. Escape Mechanism

d) Customer Satisfaction
e) Gestures

- 4. effect of globalization
- 5. The element of TQM
- 6. Aggressive Mechanism

Answer the following questions in a word or sentence each. 5X1=5

What is interest?

Who are children with mental challenges?

What is coordination?
Write the full form of WWW

Write a formula for finding the range for numerical data.

PART-B

Answer any TEN of the following questions in 2 or 3 sentences each. 10X2 =20
Write any two stages of problem-solving thinking.

If, a 10-year-old child is having

the mental age of 8 years, then find his Intelligence Quotient.

State the two effects of tension on adjustment.
State the two importances of inclusive education.

Write down the two educational

measures provided to children with hearing challenges.
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Mention any two human rights.
State any two dimensions of quality.
Write down the two characteristics of communication.
Mention any two remedies to overcome the barriers of effective communication.
Give any two examples for output devices of computer.
What are the two uses of super computer?
State two characteristics of research.
Name any two stages of action research.
PART-C
Answer any SIX of the following questions in 15 to 20 sentences each. 6X5=30
List the differences between sensation and perception in a table.
What are the characteristics of children with learning challenges?
What are the functions of the National Commission for Women in women empowerment?
Express the role of any five life skills laid down by the World Health Organization for a successful life of an
individual in a competitive world.
State the importance of planning in management.
Explain the Deming's Total Quality Management process with the diagram.
Explain the process of communication with a flow chart.
How has internet service gained importance in the modern world? Explain.
Draw a Bar Graph for the data in the following table. By what percentage is the protein content in Groundnuts
higher than that of rice?

Serial Number | Type of food | Protein content (%)
01 Groundnuts 30
02 Tur dal 25
03 Wheat 15
04 Rice 10
05 Egg 20
PART-D
Answer any ONE of the following questions in 35 to 40 sentences each. 1X10=10

What kinds of measures applied to foster the creativity in the classroom? Explain
Explain the different dimensions of personality.
Calculate the Mean, Median and Mode for the data in the following table.

Class Interval (CI) | Frequencies (f)
40-44 3
35-39 1
30-34 6
25-29 3
20-24 5
15-19 2
10-14 4
N=24
PART-E
(Only For visually challenged students)
Explain the importance of management in education. 1X5=5
Explain the Skills of Communication. 1X5=5

Explain the advantages of graphical representation of data. 1X5=5
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